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PN WOk B T OB & &£ OB X (1/2) TR & B
2 3 4 5 6 7
4 | AR - STEE N /NEE HEE i G2
Sk 2 3.0 2.5 1.8 1.5 1.7 1.5 5.3 17.3 17.3
gk L ¢ 20 m
INUES AL 3
T $ 25 m
INESINL 3 6 6 6 6 6 6 6 42 42
HEF T ¢ 20 A
K vy
HEF T ¢ 25 A
1 1 1 1 1 5 5
LY IKAREEA T | 6 100X ¢ 20 | # FAF
LY IKAREEA T | 6 100X ¢ 25 | 4 FF
1 1 1
ISIKABEA T [ 75X ¢ 20 | » 7
17k BOX & Te 1 1 1 1 1 1 1 7 7
Hufr T ¢ 20 il
1 1 1 1 1 1 1 7 7
FOKERBUT T | ¢ 20 &P
T4 3.0 2.5 1.8 1.5 1.7 1.5 5.3 17. 3 17.3
EIARY- L | 7L 2 W=15cm| m
AR T |40A m
(3 40A m
0.2 1.4 0.7 0.6 0.8 0.5 4.3 8.5 3.5
+T @WTEAS0.6 | m
0.9 0.9 0.9
(DMTEGr0.6 | m
1.9 1.1 1.1 0.9 0.9 1.0 1.0 7.9 7.9
®FMNG6r0.3 | m
KEE L TR m
o




06_2_tA /K& E &5 H E(PE)

EB 5 fam
AR wmoK B OB R £ R (2/2) TE & E
9 10 11 12
4 | AR - STEE N7 /NEE HEE i G2
I ESRL 29.4 ]3.0 16.7 1.1 25. 8 76. 0 03. 3
gk L ¢ 20 m
INESINL 3 7.6 7.0 14.6 14.6
T $ 25 m
INESINL 3 6 6 6 6 6 30 72
HEF T ¢ 20 A
S LS 3 3 6 6
e ¢ 25 5| (
1 1 6
LY IKAREEA T | 6 100X ¢ 20 | # FAF
1 1 2 2
LY IKAREEA T | 6 100X ¢ 25 | 4 FF
1 1 2
ISIKABEA T [ 75X ¢ 20 | » 7
17k BOX & Te 1 1 1 1 1 5 12
Hufr T ¢ 20 il
1 1 1 1 1 5 12
FOKERBUT T | ¢ 20 &P
T4 37.0 (3.0 23.7 |1.1 25. 8 90. 6 107.9
EIHRY-MT | 7V 2 W=15cm| m
4.0 4.0 8.0 3.0
AR T |40A m
4.0 4.0 8.0 3.0
(3 40A m
14.9 1.6 2.5 0.6 19.6 28. 1
+T @WTEAS0.6 | m
21.1 15.2 0.5 20. 0 56. 8 57. 7
(DMTEGr0.6 | m
1.0 1.4 2.0 1.9 6.3 14.2
®FMNG6r0.3 | m
4.0 4.0 8.0 3.0
KEE L TR m
o




TITER

@ 1-28.1m] @ L=57.7m 1 =14.2m
£ B AR ~TE | BAT| W=0.50m,H=0.60m|W=0.50m,H=0.60m|W=0.50m,H=0.30m B et 5 B
wpuy| # B By B 8 |eszy| £ & sy B |aagy| ¥ = |sany| B =
As
YT | t=15emET| m [ 2.000 56.20 56.20 56
Co
EHIEIMT T t=10cmET| m
As
SERELT t=5¢m m2 [ 0.500 14.05 7405 14
Co
SERELT t=10cm | m2
BRI T m3 [ 0.355 9.98] 0.380 21.93] 0.150 2.13 34.04 34
AAEEIT m3
ADEHLT m2 | 0500 14.05] 0.500 28.85] 0.500 7.1 50.00 50
BHE
BHERT | 979v%—7Y| m3 [ 0.075 2.11 571 2
FE+ | m3 [70100 2.81] 0.250 14.43] 0.150 213 19.37 19
B m3 [ 0.127 357 0.127 7.33 10.90 11
AHNERT FAEL m3
B m3
As
FREEIE T m3 | 0.025 0.7 0.70 0.7
Co
RAMIET m3
BrMmT HeAEA | m3 | 0.255 7.17] 0.130 7.50] 0.500 7.10 21.77 22
BT AATEA | m3
Con
BEFEIET t=10em | m2
“:E*ﬁAs
HEREIET t=4cm | m2 [ 0.500 14.05 14.05 14
AERRR
PR T t=11cm | m2 [70.500 1405 1405 14
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